RADICALES: OPERACIONES

Ejemplo:

Operacion

4147 + 2475 - 7243 =

Bl 283 +10v3 -633 =| 2543

=437 42435 — T3 =47 3+2.53-7.32.\3 =

Resultado 253 Solucién

Sitio para la solucién

Expresar en forma de radical unico. No olvides de reducir el indice cuando

corresponda:
Operacion
LY e
2 3 6
A.
Resultado Solucion
fi6 23543250 _
6 ) 3
B.
Resultado Solucion
Y25t 453 1252 =
C.
Resultado Solucion
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Resultado

Solucion

3,85-4,43'\/5 _

Resultado

Solucion

3(5 53.\/5)4 -

Resultado

Solucion

\/a6 Rla*-b-a-b* =

Resultado

Solucion
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(3\/5—\/5)2 -(V2+1)(3-42)=

Resultado

Solucion

5
G

Resultado

Solucion

Resultado

Solucion
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